LCOMPETITION
ENGINEERING

The Chassis Feople™

\IMOROSD,
DOOR HINGE KIT
P/N:C4930
PARTS LIST
(2) Pivot Tube With Long Pin (2) Pivot Tube With Short Pin
(2) Door Hinge Plate (8) 5/16” X 1” Bolts
(8) 5/16 Flat Washer

(8) 5/16 X 1-1/8”" Lg. Flat Washer
(8) 5/16-18 Nylock Nut

INSTALLATION INSTRUCTIONS

3

LLjI

.h o

O O CUT AND FIT TO ROLL CAGE

SHOWN WITH DOOR SHUT
=~ 1T I

For Technical Assistance, call Competition Engineering's Tech Line at

(203) 458-0542, 8:30am-5:00pm Eastern Time

COMPETITION ENGINEERING

80 Carter Drive » Guilford, CT 06437
Rev. B

C4930INST
020719

Visit Us At www.competitionengineering.com



	DOOR HINGE KIT
	P/N:C4930
	COMPETITION ENGINEERING
	80 Carter Drive • Guilford, CT 06437


	For Technical Assistance, call Competition Engineering's Tech Line at
	Visit Us At www.competitionengineering.com


